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Raw Events Negative Signals

* Negative signals have only been seen in the hall setup.
* They would confuse the common mode calculation, and decrease the final result.
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Current Avallable Data

1, 3, and 5 uAruns on LH2, with only 50k events with zero suppression.
* 6M events cosmic run with full readout.
 Pedestal data
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Full Readout Events

Every 1/100 events have full readout, with no corrections.
These events are used to make some histograms, but none of the data is saved.

Will require more thorough analysis to understand the negative pulse impact.

The plots shows how the online CM calculation compares to the pedestal CM calculation.
Recall that signals greater than 50 ADC usually pass zero suppression.
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Lommon Mode Sorting - Gommaon Mode Mean

CM Distribution Saagaqing
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Full Readout ADC Distributions

* The full ADC distribution can show the fraction of negative signals.
* The numbers in the legend show the fraction of negative signals to positive signals
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Full Readout ADC Distributions
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Thoughts

The sagging of the CM clearly increases with beam current.

Can get up to 30 ADC, and significantly effects our data.

* This can likely be corrected using the 1/100 full readout events.

It does not seem like the fraction of negative signals is increasing with beam current.
* Seems contrary to the CM sagging.

* Will need more statistics and more thorough analysis.

Will be very useful to take cosmic data with full readout at different voltages.



728
647
564
485
404
323

242
I6L|
BOT

1zaf
Lost
93t
80T
a6 T
s3f
401
261
L3r

slot 20 fiber 0

apw_{

TT 15423230938740454 1619690

slot 20 fiber 0

apv_4

TT 1542

32309387404 54 1 al2a%a

slot 20 fiker 0

apv B

TT 1542

32309387404 54 [ al2a%a

18 37 5o

75 94 11313215118

581
498
415
132
2449
I46

B3

554
519
454
189
324
259
194
129

64

2413
2145
1877
La09
1340
1072
B4
536
268

120
106
93
]
&6
53
40
24
13

slot 20 fiber {0

apv_1

slot 20 fiber 0

TT 154232309387464 5401969

apv 5

77 1542

32309387404 541 al9a%n

slot 20 fiker 0 _apw 9

77 1542

32309387404 541 al9a%a

18 37 58

75 94 113132151 1a%

147ar
1312}
L14ET
QE4T
B20T
A58

492
328

ladr

838
745
652
559

4a5T
ITIT
2797
I8ar

Qir

2528
2247}
196aT
1685}

1404
1123
B42
Sal
2E0

1zaf
Lost
93t
80T
a6 T
s3f
401
261
L3r

slot 20 fiber 0

apv_2

TT 154232309 380404 54 al96%0

slot 20 fiber 0

apv_ G

TT 1542

slot

32309380404 54 L al9a%a

20 _fiber O _apv 10

TT 1542

32309 380404 54 [ alPada

18 37 5o

75 94 113132151 1a9

2530
2244
[958
1686
1405
1124

B43

6k

281T

Lzaf
Lo&f
93t
ROT
66T
s3f
401
261
13f

slot_20_fiber 0 _apv_ 3

TT 154232309387464 54 a196%

slot_20_fiber 0 _apv 7

TT 154232309387464 54019690

slot 20 fiber O apv 11

TT 154232309387464 54 [ 01969

I8 37 56 75 94 113132151149



UV layer 0

—— Pedestal Run
—— Cosmic Run
——1uA on LH2
—— 3 uAon LH2
—— 5 uA on LH2

102

10

10

||||||||”

-500 -450 -400 -350 -300 -250 -200 -150 -100

-500 -450 -400 -350 -300 -250 -200

ADC - Common-mode - pedestal

XY module 0

[— Pedestal Hun
—— Cosmic Run
—— 1uAonLH2
—— 3 uAon LH2
—— 5 uA on LH2

ADC - Common-mode - pedestal

-150 -100

UV layer 1

—— Pedestal Run

1| — Cosmic Run
——1uf on LH2
—— 3 uA on LH2
—— 5 uf on LH2

10

102;

10

10 E

10°
IIII|II\I|IIII|III\|IIII|IIII‘IIII|IIII

—~500 -450 -400 -350 -300 -250 -200 —150 -100

ADC - Common-mode - pedestal

XY module 1

——Fedesial Hun
1| — Cosmic Run
—— 1uf onLH2
—— 3 uA on LH2
—— 5 uf on LH2
10"
102
10
10
10° H
111 | 111 1

—~500 -450 -400 -350 -300 -250 -200 —150 -100

ADC - Common-mode - pedestal

UV layer 2
—— Pedestal Run
1| — Cosmic Run
——1uAonLH2
——3uAonLH2
——5 uA on LH2
10‘:—
1025—
1035—
10*
10°
IIII|IIII|\I IIII|I\II|IIII|II\I|IIII
—500 —450 -400 -350 -300 -250 -200 —150 —100
ADC - Common-mode - pedestal
XY module 2
—Fedestal Hun
1| —— Cosmic Run
——1uAonLH2
——3uAonLH2
——5 uA on LH2
10‘:—
102:—
10
10*
10°

—-500 450 -400 -350 -300 -250 -200

ADC - Common-mode - pedestal

-150 -100

UV layer 3

—— Pedestal Run
1| — Cosmic Run
—— 1 uf on LH2
—— 3 uA on LH2
—— 5 uf on LH2
10':—
1025—
16
10‘5—
105;
IIII‘IIIIlIIII|’\JI-‘II|IIII|I\II|IIII|II\I
-500 450 —400 -350 -300 -250 -200 150 100
ADC - Common-mode - pedestal
XY module 3
——Pedestal Hun
1| —— Cosmic Run
—— 1 uf on LH2
—— 3 uA on LH2
—— 5 uf on LH2
10‘:—
102:—
16
10
16° I]H
E IIII|III III|IIII|I\II|IIII|II\I

500 450 400 -350 -300 -250 -200 -150 -100

ADC - Common-mode - pedestal



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10

